44 %8 / External View

¥J)—24 L / Without roof unit
O

375

BMAZ / Components | (x®&% : TY-34)2008.02.08
No. B# / Part name WE / Pcs MB / Material B - ZELE / Color- Finish
T |y THN— / Top cover 1 ABSEifs / ABS AJ{NT V- / White gray
A Yn-a"%-h / Polycarbonate |8 / Transparent
2 |K7+— / Base 1 ABSEiRE / ABS AJ{NT U=/ White gray
3 (W=7 / Roof 1 |/ PVC AJ4NT U=/ White gray
L (A y b / Gasket 1 A Y7b3y / Polyurethane 7397 / Black
N NN N e I e W W W=l W} 5 |7v # / Latch 2 A239bx / Stainless steel YL / Unfinished
L) | || 6 Bmff~-XAEAMS x 10) 4 8% = ffi 702
| ®| o | Screw(M5 - 10) Steel Trivalent chromate
\ o o |
| = < | T2V T—% / Technical Data
| Wi | REZEML / Protection class IP65
Pi_M ' , ERAEEEE / Operafing temperature | -10C ~ +60C
- : 150 2 Wt 2 5 A / Flammability class UL9%LHB
350
302 30
270
25% 9= 225 @\
=~ I — ==
************** 0 § 7 e o 0 o o o .~ OF
} % z}OOOOOOOOOOOO}
| 1 © o H
| g 1 o il
; d 1 © o
] @ d i [ o B
- {] (- i Oce ] ¢ o H
g \ o M | 0,
™ [ = - H ¢ & |
|l < q q © & }
9 12 o
: : 1 o
| 1 o H
(A N N | NI o ¢ 000000 evs ol
~O 7 @K u@ ' e ~———o P |
L -M544-Fyh
L-M5 Insert nut
_ 7 291 ° BAK@EERED) / Color TypelEnd of product numberd)
2 f 2% / Code | by T# /= / Top cover K74 — / Base
' G w74 +5L— / White gray |£74 7L — / White gray
® & T %8B} / Transparent ~74 FJL— / White gray

18.5

112

& /Title

B hFEHRTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

RE7K BHEE )L — 7 fF ABST 54 v92

O ]

L -M54Y-hFoh

331.8

4-M5 Insert nut

IP65 ABS PLASTIC BOX with OUTDOOR ROOF

&8 /Approved

12X /Checked

N
[mm]

8IM /Created

iR

&% /Product number
BCAR3535150

RE /Scale
1.4

{EBXB /Date 2021705717

172




| (x®%% : TY-34)2008.02

RfR / Internal View

KARBIZITIL—TEFF T TUOEREA,
Drawing does not include roof unit.

RT 1 — (R%R) $113— (A1)
Base (Internal View) Cover (Internal View)

2 150 350

° [ ] [ ] °
7 \
r —
- Pany Pan)
\/ B ) (B LB L&) |- 1) - (6) (B \J
Y Y YU Wy 9O 9 O oW

AN
D

£ N
\J 7
() )
A\ \\%
() F#\ \D
& & M
N
>
A & & ©
& & >
& & p
& & ﬂﬂ
i
© )
\\7J N\
A\ FnY
¥ o &0 &N
f) O W ¥ O WOIw O W O W &?
N . . - — )
,@: L B eV E
L ~M54 Y= NFyh L ~M54 =N Fyh
4-M5 Insert nut 4-M5 Insert nut
O
M
m
E
£
>
[gv)
> - . 8% /Title N —
= - = BARHS N TEMTE BK B58 I — 7 £ ABST 71403 ©
-I; TAKACHI ELECTRONICS ENCLOSURE Co., LTD. |P65 ABS PLAST'C BOX Wlfh OUTDOOR ROOF E/S l
= ~ X /Approved | BB /Checked | #E/Created |Z!% /Product number R caeHF
e A% /Max dim. 323.6 . BCAR3535150 '
! ! =) iR ',
fEmX B /Date 20217057117




	BCAR353515
	BCAR353515 Model (1)

